LESSON 15
HEBREW GRAMMAR

_ HOW WORDS ARE
Normal root words had three consenants (with FORMED
appropriate accompanying vowels, of course). Inflec-
tions of the verb were indicated by adding consonants Three consonants
to the beginning, the end, and sometimes ingide the
three basic consonants. These new letters brought
their own vowels along, also.

a three-consonant word: 702 “he killed®

added conseonant at the beginning: ?@P” "he will kili®

added consonant at the end: Q?@? *vou killeg"
. £} .
added letter inside: PP Ykilling”

Sometimes, inflections were shown only by
vowel change. Since the vowels were not written in
originally, one can imagine the possible variation
of interpretation, Other times, one of the original
three consonants was dropped.

There are fout basic rules which will make Syllables
identification and readlng of the Hebrew syllable
much easier:

1. Every syilable must begin with a consonant. {But sometimes
the eonjunction ? {16:3] becomes a-vowel ‘beginning a word.)

2. Every %yllable mast have a- vawel

4, Onlyrﬁhe'flnal syllable Qf'a word iay end in more than
one consonant, and then net in more than two.

Thus, the tWo;basic syllables which make up a
word are as follows; where C means ponsonant, and V
means vowel:

1. "open”: € : : 2, "Cloged":  CC
jelsig] % ox _én SR £

And, at the end of the word, it may be "doubly clesed": CC%
The English "to" written the Hebrew way would look like ED

The English “ton" written the Hebrew way would look like QSB




The English “"tong" written the Hebrew way would lock like

GNT
HRO)

An "open" syllable written in Hebrew looks like
u, b, Y0, 30
A "closed” syllable written in Hebrew looks like
ﬁg, “B, 1I0, "0
SHEWA L _ )
The shewa (., - see page 14:5) is placed under
every consonant without a full vowel of its own except:

1. If the comsonant is “gquiescent,” Sometimes %, 1, iT,
and B lose their consonantal character and "guiesce,®
i.e.,; they beceome silent.

2. If the consonant is the final letter of a word.
Simple Shewa The simple shewa 1s written . and sometimes you
ignore it, and sometimes veu give it a faint neutral
sound (see page 14:5). "Low roaders" will not learn
whén, but the following rules will help:
Ignore the shewa when:
1. it is under the last consonant of a word: ¥
2. it comes after a short unaccented vowel: 5@?7
3. it precedes a consonant with a dot in it: ?71%)
4. it precedes another shewa: 7 7U0PN
Pronounce the shewa when:
1. it 4s vrder the first consonant of a word: TR
2. it comes aftei a "metheqg” accent (,): ﬁ?@?
3. it is under a consonant with a dot in it: 17URH
Compound Shewa There are four "guttural" consonantsy ¥, ¥, i,
and 1, and sometimes a fifth, 1, 80 named because
they are "throat letters." These have several pecu=-
liarities. One is that they take a compound shewa

rather +than a simple shewa. These compound shewas
ware introduced with simple shewa on page 14:5.

NOUNS
The Hebrew moun has two genders (masculine and

feminine) and three numbers {singular, plural and dual).
Normally the dual is used for the names of objects

that go in pairs, like eyes, feet and ears. The

normal gender and number indicators are found in

the suffixes:

Masculine singular no indicator BIn "horse"
Masculine plural (AR 0010 'horses"

Masculine dual oY D?PWIJ "pair of horses”

4




Feminine simgular 7, - TRAD “mare™
Feminine plural ny niovav "mares"

Feminine dual D?Q ZJ?QQ%D ‘pair of mares”

The noun alse has a case system, which they call
"state,” and is divided inte "absolute" and “constiuet"
states. Absolute construction is thought of as the
normal form and is used with subjects, complements and
objects of the prepositions. Direct objects are usually
distinguished by the use of the particle, 18, which
appears just before the direct object. Thls.s;gn is
never translated. '

Besides the absolute canstruction, Hebrew has
a construct construction, which is used te show pos-—
session or other relationships which we exXpress in
English with the word "of." The following is an
examnple:

English: "Word  ofCod" "of * iz connected with "eodV
Hebrew: "Wordof God® "of" ig connected with "Word"

"Wordof" is in the construet state and "Ged" is in the
absolute state. This relationship is shown by the
pesition of the nouns {the absolute alwavs follows the
comstruct) and sometimes by a change in the Spclllng
of the word which is in construct.

If one wanted to say "God of the Word," in which state

would YGod" be? , . In which state would
"Word" be? ' Notice the difference
in order and in spelllng in the following example:

T 33 "The sons of the father”

oY3Iag ey ”Th@iﬁgph&r;oiiﬁhe‘sqns"

Notice. that the definite article’ §3} only. isvattached to
the word which is in the absolute’ $ﬁate, but it makes both
words definite. The Hebrew is very particular about this.

VERBS
The Hebrew verb has person {first, second and
third), number {(singular and plural}, gender (mascu-
line and feminine), state (or kind of action) and
stems. Since person, numbex and gend&r are not new
to the student there is no need for explanation.

The state of the verb descrlbes the kind of State
action that is involved, but not the time. Generally,
when the verb asserts something to be:

;  complete, it is called "perfeect®
ingompleta, it is called "imperfect”
continueous, it is ealled "participle®

commanded, it is called “imperative™



15:4

Stens The verb system uses seven normal "stems,”
although there are others at its disposal. The verb
“wp, in third person singular, masculine, perfect
has been chosen to contrast the spelling and trans-
lation of these stems:

SIMPLE INTENSIVE CAUSATIVE

QAL PTEL HIPHIL
ACTIVE 1R 78R ?I0pRI
"he killed™ “he brutally killed"|"he made somecne kill"
(NIPHAL) PUAL HOPHAL
PASSIVE (28R3) kgele kgolri
"he was killed" “he was "he was made to kill"

brutally killed"

NIPHAL HITHPAEL HISHTAPHEL

he brutally "he made himeself kill"

"he killed himself"” killed himeelf™

The simple passive is in parentheses because there is
no specific simple passgive in the perfect or imperfect.
The niphal stem f£ills in here,

also, the hishtaphel stem was only recently discovered
and is only used with one verb in the 0ld Testament.
This verb, #1111, is used 170 times in the Bible, and
means "to bow down."” So, the rareness of this stem,
and the absence of a simple passive perfect is the
reason I smaid there were seven normal stems. The other
two are added here to make the chart look nice.

Tense There is no tense in Hebrew: no form to
indicate past, present, or future. The perfect
state speaks of completed action, the imperfect
of incomplete or linear action, but both can refer
to past, present, or future. The only way you can
tell the time in Hebrew is by the context.

Isaiah 52:12 reads: "Behold: my servant will

act wisely; he will be raised, he will be 1lifted
up, he will be greatly exalted.” Although all of
the verhs are translated in the future tense, the
first two are imperfect, and the other two are
perfect! Although the forms cannot tell you the
time orientation, it is clear ir context that they
all do refer to the future.
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